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PRESSURE AND STRESS  ( p)

Example:   Convert 15 inches of water (60°F) to kilopascals
Solution:   15 inH2O (60°F)  =  15 (÷  4.018 60)  =  3.732 64 kPa

MPamegapascal

ton-force per square inch

2.041 77
inch of mercury (60°F)         inHg

1.130 85
foot of water (60°F)

2.246 10
centimeter of mercury (60°F)

1.328 39

kip per square inch 

atmosphere                                                         atm

bar bar

kilogram-force per square centimeter kgf/cm2

technical atmosphere

kilopond per square centimeter

pieze

pound-force per square inch (psi)  

4.018 60

1.866 48

inch of water (60°F) 

millimeter of mercury (0°C) 

inH2O

mmHg

pound-force per square foot

centimeter of water (60°F) 

poundal per square foot pdl/ft2

lbf/ft2

pascal

newton per square meter N/m2

microbar µbar barye dyne per square centimeter

1.488 16

2.046 14

torr

millibar mbar

gram-force per square centimeter

kilogram-force per square meter   kgf/m2

Pa

1.019 72

1.019 72

7.500 62

1.333 22

1.019 72

9.869 23

6.894 76

6.894 76

47.8803
32.1740

1.360 85

kilopascal

hectobar

kilogram-force per square millimeter kgf/mm2

kPa

lbf/in2

ton-force (UK) per square inch

hbar

1.000 81
centimeter of mercury (20°C)

1

1

1

1

14.6959

1.12

T

T

T

1

1

1000

10

9.806 65

10

1 1

101.325

1000

2

10
9.806 65

10

1000

98.0665

gf/cm2

1000

100

gigapascal GPa
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